
READ ALL INSTRUCTIONS BEFORE ASSEMBLY OF GATE. 
KEEP INSTRUCTIONS FOR FUTURE USE.!

KEEP THESE INSTRUCTIONS FOR FUTURE REFERENCE. 

Read and follow all instructions carefully to ensure that your gate and extensions are properly installed. 
Improper installation could result in the gate becoming unstable or dislodged from the doorway. Always 
make sure the extension is securely attached to the gate before using. The Safety of your child is your 
responsibility. Please keep these instructions for your reference.

12864 Biscayne Blvd.
Suite 212
North Miami FL
33181

Scan QR code
for Instructional video

BABY PLAYPEN AND GATE
INSTALLING USER GUIDE

www.comfycubs.com

 (818) 812-9374
cs@comfycubs.com



The Mounting brackets must be used in securing the gate to wall. These brackets prevent the gate 
from dislodging from its opening and becoming unstable. 
If hardware mounting to a surface other than drywall or wood, please consult with proffessional 
about installation.
The Maximum width of this gate is 228” inches.

A

B

C

D

E

F

G

H

 

LOCK & UNLOCK

PLEASE CHECK TO MAKE SURE YOU HAVE THE FOLLOWING PARTS

CODE
A
B
C
D
E
F
G
H

ITEM
Play Yard Gate

Plastic Mounting Bracket
1” Wall Mount Screw

Wall Pipe
Lock
Latch

Floor Protection Pad
1/4” Screw

QTY
1
2
4
4
2
2
8
4



Align Lock Turn Down To Close

To Align Back Of Gate Lock

5

3

To use as a play pen, con�gure enclosure to the desired shape and lock all composite
switches by pushing down on each round button. 

This Playpen uses composite switches to open and lock each gate part.
To open or close, adjust to correct angle and push button. 

0 45 90 180 270

2

4

TO UNLOCK 
PUSH LATCH
TO THE LEFT

TO LOCK
PULL DOWN

              ON BAR             

Lock & Unlock

This gate already comes put together + folded for your convenience.
1



Periodically check the gate for signs of damage, wear, or missing components. Do not use if any part is missing,
worn or damaged. Check the gate regularly to ensure all the hardware and mountings are tightened. Do not
use abrasive cleaners or bleach. Clean by sponging with warm water and a mild detergent 

 (818) 812-9374Do you have a problem or missing parts? 

We are here to help! cs@comfycubs.comContact us 

CARE AND MAINTENANCE

GATE INSTALLATION STEPS

  

STEP 02

 Using 1" wall mount screw attach the  black
mounting bracket to the wall. 

STEP 01

 Using Leveler , Drill hole into each wall. Insert
White wall pipe into the holes in the wall. 

STEP 04

  Connect gate to the wall with white latch
then turn latch down to lock.

STEP 03

Attach the white wall lock the black mounting
bracket and screw in both sides with 1/4" screws

 

STEP 05

To connect the other side of the gate- Using 1"
white wall mount screw attach the white latch

STEP 06

Connect gate to the white latch and turn
the latch down to lock. 



VEUILLEZ LIRE TOUTES LES
INSTRUCTIONS AVANT D'ASSEMBLER LA BARRIÈRE.!

CONSERVEZ CES INSTRUCTIONS POUR RÉFÉRENCE ULTÉRIEURE.
V
exten-sions sont correctement installées.

votre enfant est votre responsabilité. Conservez ces instructions pour référence ultérieure.

12864 Biscayne Blvd.
Suite 212
North Miami FL
33181

www.comfycubs.com
Scanner le code QR 

pour la vidéo d'instructions.

 (818) 812-9374

BARRIÈRE ET PORTE POUR BÉBÉS

cs@comfycubs.com



Les supports de montage doivent être utilisés pour fixer la barrière au mur. Ces supports empêchent 
la barrière de se déloger de son ouverture et de devenir instable.
Si le matériel est monté sur une surface autre qu'une cloison sèche ou du bois, veuillez consulter un 
professionnel pour l'installation.
La largeur maximale de cette barrière est de 228" pouces.

A

B

C

D

E

F

G

H

VEUILLEZ ASSURER QUE VOUS AVEZ LES PIÈCES SUIVANTES.

CODE
A
B
C
D
E
F
G
H

ARTICLE
Cour De Jeu / Portal 

Support de montage en plastique
Vis de montage mural de 1 po

Tuyau mural
Verrouillage

Loquet
Coussin de protection du sol

Vis 1/4"

QTÉ
1
2
4
4
2
2
8
4



Aligner le verrouillage Baisser pour fermer

Pour aligner l'arrière du verrou du portail

5

3

Pour l'utiliser comme parc de jeu, con�gurez l'enceinte à la forme souhaitée et
verrouillez tous les interrupteurs composites en appuyant sur chaque bouton rond.

Ce parc utilise des interrupteurs composites pour ouvrir et verrouiller
chaque partie du portail. Pour ouvrir ou fermer, ajustez l’angle correct 

et appuyez sur le bouton.

0 45 90 180 270

2

4

DÉVEROUILLER
POUSSEZ LE
LOQUET À 

GAUCHE

VERROUILLER
TIREZ SUR
LA BARRE

Verrouiller et déverrouiller

Cette porte est déjà assemblée + plié pour votre commodité.1



Vérifiez périodiquement le portail pour détecter tout signe de dommage, d'usure ou de composants manquants.
Ne pas utiliser s'il manque une pièce, usé ou endommagé. Vérifiez régulièrement le portail pour vous assurer que
tout le matériel et les fixations sont serrés. Ne pas utilisez des nettoyants abrasifs ou de l’eau de Javel. Nettoyer
avec une éponge avec de l'eau tiède et un détergent doux

 (818) 812-9374Vous avez un problème ou des pièces manquantes ?

Nous sommes ici pour aider! cs@comfycubs.comContactez-nous

SOINS ET ENTRETIEN

ÉTAPES D'INSTALLATION DU PORTAIL

  

ÉTAPE 02

 À l'aide d'une vis de montage mural de 1", fixez
le noir support de montage au mur.

ÉTAPE 01

À l’aide du niveleur, percez un trou dans chaque
mur. Insérer Tuyau mural blanc dans les

trous du mur.

ÉTAPE 04

  Connectez le portail au mur avec un loquet blanc
puis tournez le loquet vers le bas pour verrouiller.

ÉTAPE 03

Fixez le verrou mural blanc au support noir
support et visser des deux côtés avec des vis 1/4"

 

ÉTAPE 05

Pour connecter l'autre côté du portail - En utilisant
1" vis de montage mural blanche fixez le loquet blanc

ÉTAPE 06

Connectez le portail au loquet blanc et tournez
le loquet vers le bas pour verrouiller.






